Arithmetic Sequence-  Recursive  Forms           …….answer key……….
I.   Here is an arithmetic sequence

1st term
2nd term
3rd term
4th term
5th term

    6

     10

    14

    18

    22
  ………

What is the starting number?                       What is added each time?
2nd term =  1st term  +  ___4____
3rd term =  2nd term +  ___4___
4th term =  3rd term  +  ___4____
These are all examples of recursive rules.  How are these statements alike?

They always use the term before and then add the same amount of 4
Sometimes recursive rules use a symbol to designate the terms.  U1 may stand for the first term and the above statement would look like this-
U2 =  U1 + 6

Write the other two statements in this form-
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II.  Here is another arithmetic sequence
19,   28,   37,   46,   55,   64,   73 …

Write recursive rules for the first 5 terms:

III.  Sam said,  “ Recursive rules work fine if I know the 9th term and I need to know the 10th or 11th term,   but there is a problem when I know the 1st term and I need to know the 100th.”   Explain Sam’s statement.  
If I know the 9th term,  I only have to add one number to find the 10th….but I would have to add the number many times to find the 100th.
Arithmetic Sequence-  Explicit Form      ………teacher key………..
In recursive form you can easily find the next term when you know the term before it, but in explicit form you can find any term if you know the first term.

I.   Here is a sequence:

3,   15,   27,   39,   51,   63,   75
The explicit formula for this sequence is    un= 12n - 9
-  to find the 1st term,  I substitute 1 for n and evaluate      12 times 1 minus 9  =  3      

A) use the formula to find the 4th term-        12(4)-9 =39
b) use the formula to find the 7th term-        12(7)-9=75
c)  could the formula work to find any term?

II.  Here is an explicit formula for another sequence:       un= 2n + 6
a) find the first five terms of this sequence    _8__,   10__,   12__,   14__,  16___

b) what type of sequence is this?   This is arithmetic because I add 2 each time
III  To find the third term of this sequence,  I take the 2nd term and multiply by 5.

a) What kind of sequence am I talking about? How do you  know?
You are talking about a geometric sequence because you multiply to get the next term
b) Is this a recursive statement or an explicit statement?  Why?

      This is a recursive statement because you tell how to get the next term
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